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Fractions to percentages
https://vimeo.com/420690848

Answer questions on next few slides.



Fractions to percentages

0000000000
=

000000000

a) What fraction of the array of counters is red?

b) What fraction of the array of counters is yellow?

€) What percentage of the array of counters is red? %

d) What percentage of the array of counters is yellow? %

e} What do you notice about the two percentages?

)

o a) Shade the hundred squares to represent the fractions.

40 65
100 100
1 7
2 10

b} Write the fractions as percentages.

a0 65 _

100 - % 100 — %
1 7

7= % o= %

¢} Compare your shaded grids with a partner's.
What is the same and what is different?
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Fractions to percentages
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a) What fraction of the array of counters is red?

b) What fraction of the array of counters is yellow?

€) What percentage of the array of counters is red?

d) What percentage of the array of counters is yellow?

e} What do you notice about the two percentages?

30

10

&

B =

b) Write the fractions as percentages.

40 i 65
To0=| MO |% 0= 0 |*
1 7

) Compare your shaded grids with a partner’s.
What is the same and what is different?
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e Fill in the missing numbers. 8

B8 _ 8 _
20 10~
ﬂ] 9 = |:| = % [] i—g: 0% i— E
10 100 1] 100 207 20
I:I I:I e) What do you notice? c
b] i:—: % d] i:—: % ]
20 100 25 100

o a) Shade the grid in the given proportions.

L'y

° Y 1 1 . i:g;reen + 14% red
. @@ 1_Crl'r'tllifst1 E?JESZ%E CHALLENGE . 5—hlue & the rest yellow
QUESTIONS 20

Explain the mistake that Ron has made. b) What percentage of the grid is yellow?
What is the correct answer?

Ya

o Convert the fractions to percentages. o a) Use each digit card once to make the statements correct. E

1 1

a) — = b — =

) 4 ) 5 1 2 3 4 5

1. 2.
2 5
3 4 |:|> 0% ?5%:% 3 <65%
7" 5 - L] L]

9 18 d)

n|.h-
=] bl
1l

b) Are there any other solutions? g



45

9 2= 80% ) 2= 907
o Fill in the missing numbers. .
¥ N 3o uon 2= o1
j 20 N 10 '
uli=: 10 |% 9 i=—= 15 |% ""
107100 50~ 100 : A | a0y B_| q0e
\ y 20 - 20
LE T 2
b) %: 1&. = L5 |[% d) %: 1:';’;} = 1t L e) What do you notice?
<R
CH ALLE N G E o a) Shade the grid in the given proportions. c
1. 1 =
o = is 10%, so o=
) 10 © V50 g
must be 20%. ANSWERS . %green o 14% red
. %nlue « the rest yellow
Explain the mistake that Ron has made.
What is the correct answer? @ b) What percentage of the grid is yellow?
1 ;
ﬁ = 5 I3""I:I b %
e Convert the fractions to percentages.
o a) Use each digit card once to make the statements correct. |
L b) L= 20%
4 = I 5 4 !
1 2 3 4 5
1_| eps 2_ .
7= 50 T = LD
E L [ ] _ 3
4 C > 4 [0% 75% = 2 < 65%

b) Are there any other solutions?

©




Lesson 2

Equivalent FDP
https://vimeo.com/420690973

Answer questions on next few slides



o Match the equivalent fractions, decimals and percentages.

Equivalent FDP

15
100 0.05 5l
1
0 0.5 15%
o What fraction, decimal and percentage of each grid is shaded blue?
m 1
fraction = L 0.2 S0%
= 1
decimal = 3 0.15 20%
percentage =
e a)} Shade the grid in the given proportions.
fraction = 3
L ] ﬁ 'gr'een
decdimal = « 0.03 red
« 13% blue
percentage =
« 0.3 yellow
fraction = b} What proportion of the grid is unshaded?
Write your answer as a fraction, decimal and percentage.
decimal =
fraction = decimal = percentage =
percentage =

& Whita Foss Moths 2019
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Equivulent FDP o Match the equivalent fractions, decimals and percentages. a/
15
100 1 0.05 5%
L 0.5 15%
o What fraction, decimal and percentage of each grid is shaded blue? 20
= L .
fraction = Lk 5 0.2 S0%
oo
= o 1
decimal =| 0-01 7 0.15 | 20%
percentage =| | %

&

e a} Shaode the grid in the given proportions.
[

fraction =| = -
- -8 + 2 green

decimal =| o1 . 0.03 red
percentage =| 107, + 13% blue
« 0.3 yellow

traction = "% b) What proportion of the grid is unshaded?
1o Write your answer as a fraction, decimal and percentage.
decimal =| | &
fraction = E decimal = -2y percentage = | 20, /L

percentage =| 100 7%
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O ompiete the table. @ otch the decimal cards to the people.

@

Fraction Decimal Percentage . 4
My decimal is 10 0.65
0.21 less than 100%.
12%
% My decimal cannot be
simplified when it is 0.57
0.4 written as a fraction.
0.44
A% My decimal is 10%
3 3 0.61
= less than -
4 4
0.99
My decimal is greater e
QUESTIONS than 60%. '
o Amir was asked to complete the statement using <, = or =
14% @ 0.4
14 is greater 1 ﬁ
than 4 Use the digit cards to write a decimal greater than 3 but less |

than 40%.

You may not use a card more than once in each number.

What mistake has Amir made?

How many other answers can you find? c




O complete the table. © Motch the decimal cards to the people. @

Fraction Decimal Percentoge My decimal is s
2 10 0.65
e 0.21 21 % less than 100%.
i
25 p-12 12%
% 0-1 20 /. My decimal cannot be
2 simplified when it is 0.57
= o/
s 0.4 Loz written as a fraction.
#5 0.44 uy '/,
1
25 9-04 a% My decimal is 10%
3 ) 3 0.61
7 0-35 75/ less than
9 .
= 0.99 A v
My decimal is greater e
than 60%.
o Amir was asked to complete the stotement using <, = or = CHALLE N G E
ANSWERS
14% 0.4
14 is greater 1 6
than 4 Use the digit cards to write a decimal greater than =5 but less U
than 40%.
You may not use a card more than once in each number.
What mistake has Amir made?
o 1 2 3 4 5
Mmﬁ_cmma.d tinarn u‘\ e some form, O-L=LOY
and W% 7I4% S0 Wk <O 9102

How many other answers can you find? @
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Lesson 3
Order FDP
https://vimeo.com/420691109

Answer guestions on next few slides



o Write the fractions, decimals and percentages in ascending order.

Order FDP
7 13
a) 10 00 21% 09
b) 0.6 61% 2L 066
o Write <, = or = to complete the statements. ’ 50 ’
a) 64% O 0.46 d) 0.8 O 80%
63

0 47% 0.89 63 12%
b) 0.96 O% e) 67% O% 100
3 7

9 = O 35% n = O 03

d} Which part was easiest to order: a), b) or )7

Why?
o Drow arrows to estimate the positions of the fractions, decimals and 2L/
percentages on the number line. u
@) 9% = 099  19%
10 €) Which set was most difficult to order: a), b) or ¢)7 _
I I I I I I I I I I I Why?

I I I I I I I I I I I
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

b) 0.52 45% 0.2

| b

1) Compare answers with a partner.

What is the same and what is different?

W= ——
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Order FDP

o Write <, > or = to complete the statements.

a) 64% @ 0.46 d) 08 @ 80%
97 7
b) 0.96 @ 100 e) 67% 70
3 7
0 3Om 0 30w

e Draw arrows to estimate the positions of the fractions, decimals and
percentages on the number line.

a) 9% '196 0.99 19% TZ‘
% e | o043
W e I I B TR | ‘}' LI

| | I | | I | I
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

b) l 0.52 45% 0.2
5 2
i & svh 052
| 4 il I | |
| | | | | |
0 1 2 3 4 1
5 5 5 5

e Write the fractions, decimals and percentages in ascending order.

7 13
a) -1—6' —1—-— 21% 09

| 3
2, 2%, .09

37
b) 0.6 61% 5 066

06, 61%, 0-66, £

63

) 47% 0.89 100 12%
63

2%, L3%, o0, 0-%4

d) Which part was easiest to order: a), b) or ¢)?
Why?

—Vanoun gnaseers

e) Which set was most difficult to order: a), b) or ¢)?
Why?

Voo anbhwen .

f) Compare answers with a partner.
What is the same and what is different?

@)
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Who drank the most? Show your working.
o These fractions, decimals and percentages are in descending order.

89 !
99% 100 0.7 | | 0.5 49% drank the most.

Who drank the least? Show your working.

drank the least.

e Tommy scored % on o Maths test.
o a} Use the digit cards to make the statement correct.

Ajsha got 78% of the test correct.
Ajsha thinks she has done better because 78 is greater than 40
Do you agree with Aisha?

1 2 3 4 5 B 7 8 9 10

0.3 < I:I < 80%

10

@O

Explain your answer.

How many different solutions can you find?

b} Use the digit cards to write a percentage greater thun% but less

than 75%.
o Huan, Nijah and Scott each started with a 1-litre bottle of juice.

CHALLENGE Sl | O | | |
QUESTIONS

H drank 0.55 litres.
uan dran e5 <075

LIS
M

Nijah drank 59% of her juice. How many different percentages can you find?

Compare answers with a partner. Q‘

Scott has % of his juice left.




Who drank the most? Show your working.
o These fractions, decimals and percentages are in descending order.

Ba 1 1
9% 100 07 S i 0-5 49% Scotk drank the most.
Tick the fractions, decimals and percentages that could fill the gap. Who drank the least? Show your working.
——————————————— J FP——————x F—————— P—————
o | (sm/ 20 Tes/l | A
to--o-- e o Ll : Huan drank the least.

o Tommy scored % on a Maths test.

Aisha got 78% of the test correct.
Aisha thinks she has done better because 78 is greater than 40
Do you agree with Aisha? _ 1Mo

@ o a) Use the digit cards to make the statement correct.

1 2 3 4 5 6 7 8 9 10

@O

0.3 < < 80%

10

Explain your answer.

How many different solutions can you find?

= 80%, ard  8O% 7 8% 5o Towns ded -

E bl

Vorious anowess.

CHALLE N G E b} Use the digit cards to write a percentage greater thun% but less

ANSWERS than 75%.

o Huan, Nijah and Scott each started with a 1-litre bottle of juice.

Huan drank 0.55 litres. 0-L%| <075

[LILS
A

Nijah drank 58% of her juice. How many different percentages can you find?

4

Scott has 0 of his juice left. VOriowe [ bdrs

Compare answers with a partner.

O
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Lesson 4 Mathematics
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- s

Percentage of an amount
https://vimeo.com/420691195

Answer questions on next few slides



Percentage of an amount (2)

o @) Use the bar model to find 10% of 500

—_—

I | | | | | | | | | |
[ [ [ [ [ I [ I [ I I
0% 10% 20% 30% 40% 50% 60% 70% B80% 90% 100%

500

10% of 500 =

b) Use your answer to part a) to help you complete the calculations.

20% of 500 = 70% of 500 =
90% of 500 = 60% of 500 =
30% of 500 = 100% of 500 =

To find 5% you can find
10% and then halve it.

Use Dora's method to complete the calculations.

a) 5% of 40 = d) 5% of 2,000 =
b} 5% of 400 = e) 5% of 6,000 =
c) 5% of 4,000 =

What do you notice about your answers?

Some children are asked to find 75% of 340

_ I will find 25% and

3 multiply it by 3
"\\_‘_‘__\_

a) Use Dexter's method to find 75% of 340

I will find 10% and multiply it by 7,
then find 5% and add them together.

b) Use Alex's method to find 75% of 340

& Whita Ross Moths 2019
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Percentage of an amount (2)

o a) Use the bar model to find 10% of 500

—_—

I | | | | | | | | | |
I | | | [ I [ I [ I I
0% 10% 20% 30% 40% 50% 60% 70% B0% 90% 100%

500

10% of 500=| =)

b) Use your answer to part a) to help you complete the calculations.

20% of 500=| 10 70% of 500 =| 450
90% of 500=| |50 60% of 500 =| 100
30% of 500=| |50 100% of 500 =| 500

To find 5% you can find
10% and then halve it.

Use Dora’s method to complete the calculations.

a) 5% of 40 = 2 d) 5% of 2,000 = oG

b) 5% of 400 =| () g) 5% of 6,000 =| “o

) 5% of4,000= 00

What do you notice about your answers?

@

e Some children are asked to find 75% of 340

[ will find 25% and
multiply it by 3

a) Use Dexter's method to find 75% of 340

455

T will find 10% and multiply it by 7,
then find 5% and add them together.

5

b) Use Alexs method to find 75% of 340

15

& Whita Ross Moths 2019




o Ron is calculating these percentages.
10% of 20 20% of 10

(&

I will find 25% and 50%
and add them together.

20% is double 10%, and
10 is half of 20, so I know
these will both have the
same answer.

How does Ron know this? 9

c) Use Amir's method to find 75% of 340

d) Are there any other methods you could use?

o Talk to a partner about different methods for finding these

percentages.
a) Complete the calculations.
20% 90% 60% 15% 55% 40%
20% of 40 = 25% of 60 =
Use your preferred method to calculote the percentages.
a) 20% of 1,000 = d) 15% of 1,000 = 40% of 20 = 60% of 25 =
20% of 550 = 15% of 300 =
b} What do you notice about the answers?
20% of 40 = 15% of 30 =
b) 90% of 1,000 = e) 55% of 1,000 =
90% of 4,230 = 55% of 4,400 = CHALLENGE
90% of 90 = 55U of 8 = QU ESTI O NS ¢} Does this always happen? Investigate with other examples.
c) 60% of 1,000 = f) 40% of 1,000 =
d) Talk about your findings with a partner. @
60% of 400 = 40% of 400 =

60% of 98 = 40% of 98 =




o Ron is calculating these percentages. @

I will find 25% and 50%
10% of 20 20% of 10

and add them together.

€) Use Amir's method to find 75% of 340

20% is double 10%, and
10 is half of 20, so I know
these will both have the
same answer.

How does Ron know this? .9

d) Are there any other methods you could use?

o Talk to a partner about different methods for finding these

percentages.
o) Complete the calculations.
20% 90% 60% 15% 55% A0%
20% ofd0=| 7 25% of 60=| 15
Use your preferred method to calculate the percentages.
) 20% of 1,000=| 100 d) 15% of 1,000 =| 150 40% of 20 =| % 60% of 25 =| IS
20% of 550 =| || () 15% of300=| L5
b} What do you notice about the answers?
20% ofd0=| & 15% of30=| L&
Eadn  cowmn v b same
b) 90% of 1,000 = Qoo €) 55% of 1,000 =| =50
90% of 4,230 =| 3 407 55% of 4,400 =| 1, 120
90% of 90 = 3| 550 0f 8 = 4 -l CHALLENG E ¢} Does this always happen? Investigate with other examples.

Q 60% of1,000=| (0 | ) 40%o0f1,000=| LOO ANSWERS

d} Talk about your findings with a partner. @

60% of 400 =| LD 40% of 400 =| |

60% of 98=| 52 .2 40% of98=| 292




Lesson 5

Challenge
Attempt the following problems.

Remember to use RUCSAC

i e i
Al
Read Understand

Reod the question, Understand the question.

Choose the correct
What (s the important What do you need to method of celeulation
and operation(s),

ind cut?
find cur )

Check your answer,
Use the inverss to check
your working out,
ink saving E¢o
; !

Salve the problem.
Make sure you jollow
the steps.




Challenge 1
Sal has 20 beads.

She uses some beads to make these two necklaces.

How many beads does she have left?



Challenge 2

George is thinking of a 2 digit number. What number is George thinking of?

A My number is in
. the S times table.
D
My number is 2
less than 80
The sum of the
digits is 9

DO
&




Challenge 3

Two numbers, A and B, are marked on the number lines.

| | | |
I I | I | l

|
200 300 40O 1 S00

Find the sum of A and B.



Challenge 4

Max buys a shirt and a jacket.

The jacket costs £25 more than the shirt.
The total cost of the shirt and jacket is £87.

How much does each item cost?



Challenge 5

The mass of 1 cube and 4 conesis 110 g.

TAAAA

The mass of 1 cube and 2 conesis 72 g.

Haa

What is the mass of 1 cube?




Answers

Challenge 1 - 5 beads

Challenge 2 - 45

Challenge 3 - 482

Challenge 4 - Jacket £56 and Shirt £31

Challenge 5 - 34 g



